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tal) (Randome number)
white

FUNCTION RAND(IX)

Schmidt(1975)

RAND

Box c]t Muller (1958)

EX = 1X*16807
IF (IX.LT.0) EX = IX+2147483647+1
RAND = IX
RAND = RAND*0.465661E-9
RETURN
END
EX SEED
0 1
DTX(DEAL BE)
(N,0,1) 2
»

1 4
H# (Generator) Z, ,Z, W91501Aag1lde )il

@

zj = B ¢0s(0)
z2 =B sin(0)
B2= Zj2+ Zj2

Transformation)

(Inverse



B = (-2In(R))1Z (3)
R (0,1)
(Normd Distribution) 0
0 2 B 0 (1),(2),(3)

Zj=(-2 (R))12cos(0)
z2= (2 (R))Rsin(0)
R R2 FUNCTION RAND(IX)

EXj = EXP()i+ a Zj)
EX2 = EXP(ntaZ?
EX] EX2
a2 (EXj~LNtmaz2;i=1,2)

J CR FUNCTION DTX(AL,BE)
FUNCTION DTX(ALBE)
COMMON VLUK /L12IKK
P1=3.1415926
IF (KKEQ1) GOTO 10
RONE = RAND(EX)
RTWO = RANDriX)
ZONE = SQRT(-2*ALOG(RONE))*COS(Z*PI*RTOW)
ZTWO = SQRTX-2*ALOG(RONE))*SIN(2*PI*RTOW)

DTX = EXPZONE*SD+RVEAN)

KK=1
GOTO 15

10 DTX- EXPZONE*SD+RVEAN)
KK=0

END

! Cl2 SUBROUTINE TLSMXCTLALP1 TLBET, TLDED,

TLDTX)



SUBROUTINE TLSMX(TLALP,TLBET,TLDED,TLDTX)
COMMON / LI/ EX/ L2/ N
DIMENSION TLDTX(I000)
DO 152 1=LN
TLDTX(l) = DTX(TLALP,TLBET)
IF (TLDTX(I).LE.TLDED) GOTO 111
152 CONTINUE
CALL SSORT(TLDTX)

RETURN
END
» » » L 11 1 DTX(CE)
/,(*)=
X>0 0 (Scale Parameter) ,e > O
lex (0,1)
2 X F X

FUNCTION DTX(CE)
FUNCTION DTX(CE)

COMMON /LIITK

EX=RAND(IX)
DTX=CE*ALOG(l-FX)

RETURN

END



1
, ' 5

SUBROUTINE TESMX

SUBROUTINE TESMX
COMMON / LI/ EX/ L3/ TEDTX/ L5/ TEBET.TEDED/ L2/ N
DIMENSION TEDTX(I000)
DO 152 1=1N
111 TEDTX() = DTX(TEBET)
IF (TEDTX(I).LE.TEDED) GOTO 111
152 CONTINUE
CALL SSORT(TEDTXN)
RETURN
END

» DTX(AL.BE)

X> 0 a (Shape Parameter)

a >0 X ' (Scale Parameter) , x > O

1Fx(x) = FX FX 01
2 X FX

FUNCTION DTX(AL,BE)
FUNCTION DTX(AL,BE)
COMMON /LIEX



FX=RAND(IX)
P1=(L.FX)**(1.JAL)

P2=1/P1
DTX=BE*(P2-1)
RETURN
END
y
SUBROUTINE TPSMX

SUBROUTINE TPSMX
COMMON / L1/ DC/ L3/ TWDTX/ L5/ TWALP,TWBET,TWDED/ L2/ N
DIMENSION TWDTX(1000)
DO 152 1=IN
111 TWDTX(l) = DTX(TWALP.TWBET)
IF (TWDTX(I).LE.TWDED) goto 111
152 CONTINUE
CALL SSORT(TWDTX,N)
RETURN
END

ya
SUBROUTINE SORTCX)

SUBROUTINE SSORT(X)
DIMENSION X(I00)
COMMON /L2IN
LAST=N-1
DO 6 K=1LAST

M=K

NEXT=K+1

DO 7 IN=NEXT,N

IF (X(IN).LT.X(M)) M-IN
7 CONTINUE



IF (M.NE.K) THEN
TEMP=X(M)
X(M)=X(K)
X(K)=TEMP
ENDIF
6  CONTINUE
RETURN
END



DIMENSION X(1000XY(L000XNN(5)
COMMON /LIO/NX L/LL/K/L2INIL3IX/L5/A3.DILT/YIL6/A030.D0
DOUBLE PRBOSION TMSBMO.TMSEMUTMSBPL
1X1=19
IX=3
A=3.0
B=6.0
D=3.00
N=10
BB=B*1000
DD=D*1000
H3=N
u=1000
WRTTB(6,*) ‘estimation PARAMETER FROM LEFT-TRUNCATED PARETO’
WRITB(6.*) ‘parameter ALPHA(A)E A
WRTTB(6.¥) 'parameter BTA(B)IS*3B
WRITB(6.*) 'parameter DBDUCTIBLB(D) IS.DD
WRITB(6.*) ‘number of DATAis'3
SUM1=00
SUM2=0.0
SUM3=0.0
SUM4=0.0
SUM5=00
SUM6=0.0
SUM7=0X)
SUM8=0.0
SUM9=0.0
SUM10=00
SUM11=0.0
SUM12=0.0
KK=0
DO 99110<1,
KK=KK+1
123 CALL TPSMX
T1=0.
T2=0.
DO 4J=13
TL=TL+(X()-D)
T2=T24<X(J)-D)**2
CONTINUE
TM1=T1/H]
TM2=T2/H)
HH=2.*(TM1**2)
IF (TM2LT.HH) 00TO 123
AQ=(2.¥TM2-HHy(TM2-HH)



991

114

BO=(TMIXTM2y(TM2-HH)
DO=X()
CALL TPMO(AMO3MO.DMO.HH1)
IF (HHLBQ.0.0) THEN
|A=IA+1
00TO 123
ENDIF
CALL TPMUAMUBMUDML.HH?)
IF (HH2BQ00) THEN

JB=JB+1
00T0 123
ENDIF
CALL TPPUAPUBPL.DPL.HH3)
IF (HH3BQ.0.0) THEN
1C=1CH
00T0 12
ENDIF

SUM1=SUM1+AMO

SUM2=SUM2+BMO

SUM3=SUM3+DMO

SUMAc=SUMA+AML

SUMS5=SUMS+BML

SUMfc=SUMB+DML

SUM7=SUMT+APL

SUMB=SUMS+BPL

SUM9=SUMS+DPL
SUMI0=SUMZ0+<((AMOA)**2+(BMO-BB)**2+(DMO-DD)**2y3)
SUM11=SUMLI-K((AML-A)**2+<BML-BB)*#2+<DML-DD)**2y3)
SUMI12=SUML2t{((APL-A)**2+(BPL-BB)**2+{DPL-DD)**2)3)
CONTINUB

HIIG=U

PAMO=SUMLHIK

PBM = M2HIK

PDMO=SUM3/HIK

PAML=SUMA/HIK

PBML=SUMSIHIK

PDML=SUMBIHIK

PAPL=S MTHIK

PBPUSUMBIHIK

PDPL*= MOIHIK

WRTTE(6:*) ‘CHBCK BRROR FROM MOMENT*JA

WRITB(6:*) 'check BRROR FROM MAXIMUM-UKBUHOOD’j B
WRITE(6,*) CHBCK BRROR FROM PSUBDO LEAST-SQUARB'|C
TMSBMO=SQRT(SUM 10/HIK)

TMSBML=SQRT(SUM LUHIK)

TMSBPL=SQRT(SUM12/HIK)

WRTTB(6.414) PAMO.PBMO.PDMO.TMSBMO

WRTTE(5,114) PAML.PBML.PDMUTMSEML

WRTTE(5.114) PAPLPBPLPDPL TMSBPL

FORMAT ( 1X.6F155)



sTOP
END
SUBROUTINE TPSMX
COMMON / LI/ IX/ L3/ TWDTX/ L5/ TWALP.TWBBT.TWDBD/ L2/ N
DIMENSION TWDTX(1000)
DO 152 LN
11 TWDTX() = DTX(TWALP,TWBET)
IF (TWDTX(1)LB.TWDBD) 00TO 111
152 CONTINUB
CALL SSORT(TWDTX,N)
RETURN
END
FUNTION DTX(AL3B)
COMMON /LI IX
FX * RAND(IX)
Pl « (LFX)(VAL)
P2= 1pL
DTX = BB*(P2-1)
RETURN
END
FUNTION RAND(IX)
IX - IX*16807
IF (IX LT, 0) IX = [X+2147483647-
RAND- IX
RAND - RAND*0.4656618-9
RBTURN
END
SUBROUTINE SSORT(X,NB)
DIMENSION X(1000)
LAST - NB-1
DO 6 K=LLAST
M=K
NEXT = K+
DO 7 IN=NKXT.NB
IF (X(IN) LT. X(M)) M=IN
7 CONTINUE
IF (M JNBX) THEN
TEMP = X(M)
X(M) - X(K)
X(K) = TEMP
ENDIF
6 CONTINUB
RETURN
END

¢ PARAMETER ESTIMATION BY MODIFIED MOMENT METHOD ¢
0,6 *M M «m «*W «a a* » *W *“**%m «M *M **M *M » *M ***« C
SUBROUTINE TPMO(AMO3MO,DMO.HH)
COMMON /L2/ N/ L3/ X(1000y L6/ A030.DO
DOUBLB PRECISION DD.DB,0A,H11,H22,D0AA130,D0



HH=9.0
TM11=00
™22 =00
Y1=X())
DO 2 t=I\N
TMLL = TMLL+X(1)
TM22 *TM22+X(1)*X(1)
2 CONTINUB
HJ *N
TML = TMIIN
TM2 = TM22IN
-0
1=0
A0 =325
AZ=A0
Al* AO
114 AO *Al
IF (AO .LT. 0.0) 00TO 118
DO = ((HI*AO-L)*Y1+(AO-1)¥TMiy(AO*(HJ+1)
DD = (YI-TMiy((HJ+L.)*AO*AO)
BO = DO*HJ*AQ - (HI*AQ-L)*YI
DB = HJ*(DO+AQ*DD) - HI*Y1
0A = 2.*DO*(BO+DO)*(A02.>K(BO+DO)**2>t<DO*DO- ra2)*(AO-1.)*(A0-2.)
HII « 2.*(DO*(BO+DO>+<A0-2.*((BO+DO)*DD+DO*(DD+DB)))
H22 2 »(BO+DOJ*(DD+DB>+<DO*DO-TM2)*C2 ¥A0-3 J+<AQ-L)*(A0-2.*2.*
+  DO*DD
DOA * H11+H22
Al AO<OA/DOA)
J= )4
DBL = DABS(AI-AQ)
IF ¢J.QT. 25) 00TO 112
IF (DBL .0T. 0.0001) 00TO 114
IF (DBL .LT. 0.0001) 00TO 112
118 A0 05*AZ+Al)
1=
IFa QT. 100) 00TO lis
00TO 114
12 AMO = Al
DO O ((HI*AI-L)*Y I+(Al-L)*TMiy(Al*(HI+1.))
BO = DO*HJ*AI - (HI*AL-L)*Y1
BMO = B0*1000.
DMO = DO*1000.

00TO 116
115 HH =00
116 RETURN
BND

c PARAMETER ESTIMATION BY MAXIMUM UKBLIHOOD ¢

SUBROUTINE TPML(AMLIBMUDML HH)



15

m

COMMON /L2/ N/ L3/ X(1000y L6/ A030.D0
DIMENSION ARXB2XH(Q)
DOUBLB PRBOSION H1.01.02,03,HEL,HA3,DBTIPDTA.TPDTB
1=0
J=0
HH=9.0
Y1=X(1)
DO=YI
HI=N
AZ=AO
BZ=BO
Al=A0
BI=BO
AO=Al
BO=BI
01=0.
02-0.
(@21
IF (AO.LT.0.00l) ocrro 111
IF (BOXT.0.001) 00TO 111
D021=13
HI=(BO+X(1))
0 1=0+DLOO(H1)
02=02+<iyHI)
03=C3+<iyHI)**2
CONTINUE
HBI=BO+DO
H(l)=(HJ/AQ) + HI*DLOO(HBI) - 01
HC2MHPAO/HBL) - (AO+1.,P02
A(LH-HJIA0) + HI*DLOO(HBI) - 01
AG2MHJ/HBL) -02
B(1>=AQ)
B(2H-HI*AOI(HBL*HBL) + (AO+1)*a3
DIT1=DBT(A3)
IF (DABS(DBN)3T..0001) 00TO 111
TPDTA=DBT(H3).DBT1
TPDTB=DBT(A,HyDBTI
Al=AO-TPDTA
BI=BO-TPDTB
NS
IF (.0T25) 0070 112
DBLA=ABS(AOAL)
DBLB*ABS(B0-BI)
IF ((DBLAOT.0.000)) .OR(DBLB.4T.0.0001)) 00TO 125
IF (DBLALLT.0.0001) OR<DBLB3TX),0001)) 00TO 112
AL=05*(A0+A2)
B1=05*(B0+B2)
EI1H
IF (L.OT.I00) 00TO 115
00TO 15

103



115
116

AML=A1
BML=B1*1000.
DML=DO*1000.
QOCITO 116
HH=00
RETURN

END

C PARAMETER ESTIMATION BY PSBUDO LEAST-SQUARE METHOD €

125

SUBROUTINE TPPUAPL3PL.DPL.HH)

COMMON /L2INIL3/X(1000yL7/Y (1000yL6/A030IX)

DIMENSION AC2)3<2XH<2)

DOUBLE PRECISION 01,02,010,011.012%013,014,HO,TI.DBYI,DBDY, ILA3,

DBTI.DBT.TPDTATPDTBHI

CALL PLSY

Y1=X(1)

0

30

HH=0.0

HI=N

AZ=AO

BZ=B0

Al=AO

BI=BO

AO=Al

BO=BI

IF (AOXT.0.001) 00TO 111

IF (BO.LT.0.001) 00TO 111

DO=X()

01-0.

02-0.

010=0.

011-0.

012=0.

013=0.

014=0.

H0=B0+DO

DO 21=13
HL=(BO+X(1)
Y£=DLOO(HI)-DLOO(HO)
DBYI=(UHI) . (1HO)
HBFY=(l,(HO**2) <iy(HI*12))
01=0 L4+YI*YI
02=02+Y ()Y
010=010+YI’ DBY!
0 11=011+Y(Ij*DBYI
012=012DBY*%2
013=013+Y1*DBDY
0 14=014+Y(I}*DBDY



11

12

115
116

25

CONTNUB
H(l) =A0*01 -02
H(2) =A0*A0*010 - A0*011
(1) =01
A(2) =2 *A0*010 +- 01l
B(1)=AC2)
B(2) =A0*A0*(012+013) . AO*014
DBT1=DBT(A3)
IF (DABS(DBTL).LT.0.0) OOTO 111
TPDTA=DBT(H3yDBTI
TPDTB=DBT(A.HyDBTI
Al-AQ-TPDTA
BI=BO-TPDTB
33
IF (J.0T.25) 00TO 112
DBLA=ABS(A0-AL)
DBLB=ABS(B0-B)
IF ((DBLA.QT.0"001).0R<DBLB.OTX).0001)) 00TO 125
IF ((DBLAJLT.0.0001),0R.(DBLB.LT.0.0001)) 00TO 112
A1=05*(A0+AZ)
B1*0.9'CBO+BZ)
HA
IF (LOT.I00) 00TO 115
00TO 1%
APUA1
BPL=Binooo.
DPL=DOMO0O.
00TO 116
HH=0.0
RETURN
END
SUBROUTINE PLST
COMMON /L2/NILTIY(1000)
HI=N+1,
DO 251=13

H2=H1l

m=HI/H2

Y(I> ALOO<HI)
CONTTNUB
RETURN
END
FUNCTION DBT(A3)
DIMENSION A(2)3<2)
DOUBLB PRBASION DBTA3
DBT=A(1)*B(2)AC2)*B(1)
RETURN
END

>



141

142

DIMENSION X(100)

COMMON /L12/&CK/LL/DCIUINIL3/A030.DO/LAIXIL6IA3.D.

' IL13/TMLTM2
N=100
LL=1000
D=3000.0
A=605
B=2.0
1X1=19
[X=19
KK=0
IA=0
JB=0
JC=0
WRITB(6.*) initial DCIS ‘X3
WRITB(6,%)
WRITB(6,*) 'deductible \d
WRTTB(6*) ‘alpha of ‘a
WRITB(6.*) ‘beta of *3
j=3)
SUM1=0.
SUM2=0.
SUM3=0.
SUM4=0.
SUM5=0.
SUM6=0.
SUMT7=0.
SUM8=0.
SUM9=0.
SUM10=0.
SUML1=0.
SUM12=0.
DO 12 L=1,LL
CALL TLSMX (A3.D.X)
T1=0.0
T2=0.0
DO 1421-1N
TI=TI+ALOO (X (1))
T2=T2+ALOO (X (1)) **2
CONTINUB
TLMI=TIN
TLM2=T2IN
HHHH=TLM1**2
[F OTLM2.LTJ-IHHH) 00TO 141
A0=TLM1
B0=SQRT(TLM2-HHHH)
D0=X(1)
1=+

*

‘number OF DATA *N



v

14

CALL MMOB(AMO,BMO.DMO.HI)
CALL MMLB(AMLBMLDMLH2)
CALL MPLB(APL3PL,DPUH3)
IF (H2.BQ.0.0) THEN
JA=IAHL
QOTO 141
ENDIF
IF (H1.EQ.0.0) THEN
JC=ICH
GOTO 141
ENDIF
IF (H3.BQ.0.0) THEN
JB=JB+1
00TO 141
ENDIF
SUMI=SUMKHAMO
SUM2=SUM2*BMO
SUMS= UM3+DMO
SUM4=SUM4+AML
SUM5=SUM5+BML
SUM6=SUM6+DML
SUM7=SUM7+APL
SUMB8=SUM8+BPL
SUM9=SUM9+DPL
SUM 10=SUM10+<(CAMO-A)*2+<BMO£)**2t<DMO -D)**2)y3.)
SUM11=SUM1H<((AML-A)*2+{BMLa)**2*<DML-D)**2)y3.)
SUM12=SUM12+<((APL-A)**2+(BPL-B)*2+{DPL-D)*'2)y3.)
CONTTNUB
H3-LL
PAMO=SUMIHJ
PBMO=*SUM2/HJ
PDMO=SUM3/HJ
PAMUSUM4/HJ
PBML=SUM5/HJ
PDML=SUM6/HJ
PAPL-SUM7/HJ
PBPL=SUM8/HJ
PDPL=SUM9/HJ
TMSBMO=SQRT(SUM10/HJ)
TMSBML=SQRT(SUM11/HJ)
TMSBPL=SQRT(SUM 12/HJ)
WRITB(6,*) 'CHBCK BRROR FROM ITERATION BY m 1'JA
WRITB(6,%) 'check BRROR FROM ITERATION BY PL"JB
WRITE(6,%) ‘CHBCK BRROR FROM ITERATION BY mo'JC
WRTTB(6,*) ‘check iteration’.LL
WRITE(6,*) 'check replication™
WRITB(6,114) PAMO.PBMO.PDMO.TMSBMO
WRITB(6,114) PAML.PBMUPDML.TMSEML
WRITE(6,114) PAPL.PBPUPDPUTMSBPL
FORMAT(1X,3F15.5»2F10.5)
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STOP
HND

¢ PARAMETER ESTIMATION BY PSBUDO LEAST-SQUARE METHOD ¢

4

42

14

SUBROUTINE MPLB(APL3PL.DPLH)
COMMON /L2IN/L3/A030 DO/LA/X/L6/A3.D
DIMENSION X(100)
30
0
H=0.0
AZ-AO
BZ=B0
DZ=D0
AL=A0
B1=B0
D1=D0
IF (LOTI00) THEN
H=00
00TO 14
ENDIF
CALL TLDBPL(A131.DI.A030.D0.ROR)
IF (ROREQ.0.0) THEN
AOO5HAL+AZ)
BO=05*(B1+B2)
D0=05+D1+D2)
=C|
00TO 41
ENDIF
331
IF (1.0T25) 00TO 42
BRA=ABS<A1-AQ)
BRB=ABS(BLEQ)
BRD=ABS(D1-D0)
IF (BRA.OTX>BL).OR<ERB.OTDBL).0R<BRD.0TX)BL)) 00TO 41
APUAO
BPUBO
DPL*<DN)
RETURN
END

c PARAMETER ESTIMATION BY MAXIMUM LIKELIHOOD ¢

0,

SUBROUTINE MMLB(AML3ML.DML,H)
COMMON /L2/N/L3/A030.DO/M/X/L6/A3.D
DIMENSION X(100)

H

10

H=9.0

AZ=AD

108



BZ=B0
DZ=D0
4 A=A
B1=B0
D1=D0
IF (LOT.IO0) THEN
H=0.0
GOTO 14
ENDIF
CALL TLDEML(AI,D0.AO,ROR)
IF (RORBQ.0.0) THEN
A0=05*(AL+AZ)
==}
0070 41
ENDIF
33+
IF (JOT.25) 0crro 42
CALL HBLP(RR0.D030)
BRA=ABS(A1-AQ)
ERB=ABS(B1-B0)
IF (BRA.OT.DBL).ORXERB.OT.DBL)) ocrro 41
42 AML=A0
BML=B0
DMUDO
14 RETURN

ek I NN B N
C PARAMETER ESTIMATION BY MODIFIBD MOMENT METHOD ¢

fevtoky - doky S e R R R R R

1

SUBROUTINE MMOB(AMO3MO,DMO,H)
COMMON /L2IN/L3/A030.DOILAIX/L6/A3.D
DIMENSION X(100)
0
1=0
H=90
AZ-AO
BZ=B0
DZ=D0
[ A=A
B1=B0
D1=D0
IF (1OT.00) THEN
H=00
GOTO 14
ENDIF
CALL TLDBMO(A131.D1,A030,D0,ROR)
IF (RORBQ.00) THEN
A0=05+(AL+AZ)
BO=05+(B1+B7)
D0=05*D1+DZ)
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ROR=0.0
IF (AOLT0) 00TO 81
IF (BO.LT.0) 00TO 81
CALL PLSYOO
720=(ALOO(DO)-AQyBO
PHIO=TLPHKZZ0)
CALL PROBGZZOPZ0)
HI=1P20
IF (HLLT.TOL) 00TO 81
YD=DLOO(HI)
DAYD=PHIO(BO*HL)
DBYD=ZZ0*DAYD
DAPHIO=ZZOpHIO*Z20
DBPHIO=DAPHIO'ZZ0
HH1=BOY(H1*2)
IF (HHLLT.TOL) 0OTO 81
H11=1HHL
IF (H111T.TOL) 00TO 81
DADAYD=(HI*DAPHI0-(PHI0**2yB0yHIl
DBDAYD=(BO*H1*DBPHI0-PHIOHZZOPHIOHHI)(BOMHLL)
DADBYD=2ZQ*DADAY D (DAYDIBO)
DBDBYD=2ZO*DBDAYD<ZZ0*DAYDIR)
DO 43 I=IN
Z25=(ALOO((X(1)-AOyBO
PHI5=TLPHI5<ZZ5)
CALL PROB(ZZ5PZ5)
Ho=1-PZ5
IF (H2.LT.TOL) 00TO 81
YX=DLOO(H2)
DAYX=PHI5/(B0*+2)
DBYX(ZZ5*DAYX
DAPHI5=ZZ5*PHI5/B0
DBPHIS=DAPHI5*ZZ5
HH2=BO¥(H2+*2)
IF (HH2.LT.TOL) 00TO 81
H22-1/HH?
IF (H223IT.TOL) 00TO 81
DADAYX=(H2*DAPHI5{PHI5**2yBOyH22
DBDAYX=(B0*H2*DBPHI5-PHI*BOWZZ5*PHI5+H2)y(B0*H22)
DADBYX=DBDAYX
DBDBYX=ZZ5'DBDAYX<ZZ5*DAYX/B0)
YI-YDYX
DAYI=DAYD-DAYX
DBYI=DBYD-DBYX
DADAYI=DADAYD-DADAYX
DBDAYt=DBDAYD-DBDAYX
DADBYI=DADBYD-DADBYX
DBDBYI=DBDBYD-DBDBYX
0 1=014Y(Ij*DAYI
Q2=02+YI*DAY|



Q3=03+Y(1)*DBYI
04=G4+YI*DBY]
05=05+Y ()*DADAYI
06=06+YI*DADAYI
07=07+DAYPDAYI
08=08+Y(T)*DADBYI
09=09+YI*DADBY!
010=010+DAYI*DBYI
0L1=011+Y(I}*DBDAY!
012=012+YFDBDAYI
(13=015+-DBYI*DAYI
0 14*014+Y()*DBDBYI
0 15=015+YFDBDBY]
0 16=016+OBYI*DBYI
43 CONTINUE
H(1>*0102
HC2>=03-04
A(1)=05<06+07)
A(2)=08<09-01)
B(1)=011<012+013)
B(2)=014<015+016)
DBTL=DT(A3)
IF (ABS(DBTL).LT.0XI) 00TO &1
TLDTA=DT(H3yDBTI
TLDTB=DT(A3yDBTI
AL=A0-TLDTA
B1=B0-TLDTB
D1=D0
IF (ALLT.0) ocrro 81
IF (BLLT.0.) 0OTO 81
IF (DIIFT.0.) 00TO &L
00TO 82
81 ROR*0.0
82 RETURN
END
E o sy kyyiypybioicbiky eyt ook ooty kg ekyyhyyiotkgky ok
¢ NEWTON-RAPHSON IN MAXIMUM-LIKELIHOOD MBTHOD ¢
£ g G 5o 4 G A A g 4 GO
SUBROUTINE TLDBML(A030,D0,A131.DI.ROR)
COMMON/L2/N/LA/X
DIMENSION X(100)
DOUBLE PRECISION TLDTA.TLDTD.DBT
YI=X()
ROR=9.0
HJ=N
j=9)]
A
IF (AOLBOO) 00TO 71
DO 92n=IN
|=S1+<AL00KX(1)-40)



92

9

n
7

92

115
116

2= 2<ALOO(X(H)-A0)2

CONTINUB

SO=ALOCI(DO) - A

HHI=S2-51%50

IF (HHLLB.O) 00TO 71

BO=SQRT(HHIH)

01=0.

02-0.

DO 91 I=1N
775=<AL0A(X(1))AOyBO
01=014225
0220247252

CONTINUB

270=(ALOG(DC)-AOyBO

PHIO=TLPHI(ZZ0)

CALL PROB(ZZ0PZ0)

HHI=L-PZ0

0A=0 1-HLPPHIOIHH)

DAZCKI-ZZ0’ DByBO

DAPHIO=PHIO*ZZ0*DB

DAPZ0=-PHIODAZO

DAOI=(HI+0I*DByBO

DOA=DAQ1-HI*(HHI*DAPHIOBHIO*DAPZ0y(HHI**2)

IF (ABS(DOA).LT.0.0001) 00TO 72
DBTI=0A/DOA
Al=AU-DBTL

00T0 72

ROR=0.

RETURN

END

SUBROUTINE HBLP(RR>030.D031)
COMMON /L2IN/L4/X(100)

RR=9.0

IF (AO.LT.0.0001) 0OTO 115

IF (DO.LT.0.0001) 0OTO 115

HI=N

81-0.

A

DO 92 E=LN

1=51-KALOO(X(ii))-A0)
2= 2-KALOO(X(E))-A0)*2

CONTINUB

$0=ALOO(DO) -AO

HHI=S2-51*30

IF (HHILB.0)) 00TO 71
BO=SQRT(HHIH)

00TO 116

RR=0.0

RBTURN

END

113



SUBROUTINE TLSMX(TLALP.TLBBT.TLDBD,TLDTX)
DOUBLE PRECISION PHIFFAULT
COMMON / LI/ IX/ L2/ N
DIMENSION TLDTX(1000)
DO 152 I=LN

TLDTXCD = DTX(TWALP,TWBBT)

IF (TLDTX(1).LB.TWDBD) 00TO 111
CONTINUE

CALL SSORT(TWDTX)
RETURN

END

FUNTION RANDOX)

IX = X*16807

IF ox LT, 0)IX EIX+2147483647+1
RAND = IX

RAND = RAND*0.465661B-9
RETURN

END

FUNCTION DTX(AL38)
COMMON /LIIX IL12/KK
PI=3.1415026

IF (KK.BQ.l) 00TO 10
RONE = RANDOX)
RTWO- RANDOX)
ZONB = SQRT(-2*ALOO(RONE))*COS(2*PI*RTOW)
ZTWO = SQRT(-2*ALOO(RONE))*SIN(Z*PI*RTOW)
DTX - BXP(ZONB*SD+RMBAN)
KK=1
00T 15
DTX = EXP(ZONB*SD+-RMBAN)
KK =0
RETURN
END
SUBROUTINE SSORT(X)
COMMON /L2/ N
DIMENSION X(100)
LAST = NB-1
DO 6 K=1,LAST
M=K
NEXT = K+|
DO 7 IN=NEXTNB
IF (XON) LT. X(M)) M=IN
CONTENUB
IF (M NBX) THEN
TEMP = X(M)
X(M) = X(K)
X(K) = TEMP
BNDIF
CONTENUB
RETURN



HND
FUNCTION TLPHICZ2)
TLPHI=(L 725066282746 BXP(-ZZ**212)
RETURN
HND
SUBROUTINB PROB(ZOF0)
TLZO0=TLPHIO(Z0)
TLWW=1Jil.+0.33267*ABS(Z0))
TLP=1-TLZ0¥(04361836 TLAW-0.1201676*TLWW*+2)
+ 0.937208*CTLWW*3)
IF CZ0QBO) THHN

PO=TLP
BLSB

PO=1.-TLP
ENDIF
RETURN
HND

DIMENSION X(1000XY(1000)
COMMON [LL/IXIL2INIL3IXILS/BA)LTIYILEISM1.SM2
IX=19
B=2000
D=5000
N=10
HI=N
U000
WRITE(5,*
WRITB(5
WRTTE(,
WRITB(6,*
SUM1=00
SUM2=0.0
SUM3=0.0
SUMA=0.0
SUMB=0X)
SUMB=0.0
SUM7=0.0
SUMB=0.0
SUM9=0.0
SUM10=0.0
SUM11=00
SUM12-00
DO 125 K=LLI
KK=KK+1
CALL TESMX
CALL PLSY(SUMY)
1=SUMY
Ha=N
TM1=SMH)

») ‘parameter BTA(B) IS’jB
‘parameter DBDUCTIBLB(D) Is’.DD

‘NUMBBR of DATA "N

‘estimation PARAMETER FROM LEFT-TRUNCATED expanential’

115



Y1=X(1)
DMO=(HPYT-TMiy(HX)
BMO=HI*(TMI-Yiy(HJ)
DML=Y1
BMUTML-Y1
01:00
02-00
DO 101 IL=LN
00=X(IL)-Y1
QEQHIDD)
02=02+Y(IL)*00
CONTTNUB
BPUOI02
DPL=Y1
SUMI=SUMI+DMO
SUM2=SUM2+-BMO
SUM3=SUMDML
SUMA=SUMA+BML
SUMB=SUMS+DPL
SUM6=SUMG+BPL
SUM7=SUM7-KDMO-D)**2
SUMB=SUM8+<BMO 2
SUM9=SUMI+<DML-D)2
SUM10-SUM 10+<BML-Bj*2
SUMU=SUM11-KDPL-D)"2
SUM12=SUM 12+<BPL
CONTINUB
HH=LK
DBMO=SUMiyHH
BHMO=SUM2IHH
DBML=SUM3/HH
BBMUSUMA/HH
DBPL=SUM5/HH
BBPL=SUM6/HH
TMSHMO=SQRT((SUMT+SUMSy(2+HH))
TMSBML=SQRT((SUM3+SUM 10y(2*HH))
TVSBPL=SQRT(SUMLL4SUML2Y(2*HH)
WRTTB(6*) DBVO.DKMO.TMSBMO
WRIT8(6/) DKMUDBML TMSBML
WRTTB(6¥) DBPUDBPUTMSBPL
SICP
END
SUBROUTINE TLSMX
COMMON / LI/ IX/ L3/ TWDTX/ L5/ TWBBT.TWDBD/ L2/ NIL8/SUM.SQR
DIMENSION TWDTX(1000)
SUM=0.0
SQR=0.0
DO 152 I=LN
TWDTX(!) * DTX(TWBBT)
IF (TWDTX(l).LB.TWDBD) 00TO 111



117

M=SUM+TWDTX(l)
SQR=SQR+TWDTX(1)**2
15 CONTINUE
CALL SSORT(TWDTX,N)
RETURN
END
FUNTION DTX(BB)
COMMON /LI/ IX
PX = RANDOX)
PI = ALOO(I-FX)
DTX = (BB*P1)
RETURN
END
FUNTION RAND(IX)
IX = 1X* 16807
IF OX IVT, 0) X = IX+2147483647+1
RAND = IX
RAND = RAND*0.465661E-9
RETURN
END
SUBROUTINE SSORT(X.NB)
DIMENSION X(1000)
LAST = NB-1
DO 6 K=1,LAST
M=K
NEXT = K-
DO 7 IN=NEXTINB
IF (X(N) LT, X(M)) M=IN
7 CONTINUE
IF (M NEX) THEN
TEMP = X(M)
X(M) = X(K)
X(K) = TEMP
ENDIF
6 CONTINUE
RETURN
END
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